

COMPATIBLE MAPPINGS OF TYPE (A) AND COMMON FIXED POINTS IN BANACH SPACES

P.P. MURTHY*, Y.J. CHO** and S.M. KANG**

(Received Feb. 17, 1993; Accepted April 13, 1993)

ABSTRACT

In this paper, we introduce the concept of compatible mappings of type (A) on Banach spaces and give a common fixed point theorem for compatible mappings of type (A).

1. INTRODUCTION

In [3], M. Gregus Jr. proved the following theorem:

Theorem A. Let C be a closed convex subset of a Banach space X . If T is a mapping C into itself satisfying the following inequality:

$$(1.1) \quad \|Tx - Ty\| < a\|x - y\| + b\|Tx - x\| + c\|Ty - y\|$$

for all $x, y \in C$, where $0 < a < 1, c \geq 0, b \geq c$ and $a + b + c = 1$, then T has a unique fixed point in C .

Recall that the mapping T satisfying (1.1) with $a = 1$ and $b = c = 0$ is said to be non-expansive and this mapping satisfying (1.1) with $a = 0$ and $b = c = \frac{1}{2}$ was considered by C.S. Wong ([7]).

Recently, B. Fisher and S. Sessa ([2]), M.L. Diviccaro et al ([1]) and R.N. Mukherjee et al ([6]) generalized Theorem A in various ways.

For example, B. Fisher and S. Sessa ([2]) proved the following theorem:

Theorem B. Let T and I be mappings of a closed convex subset C of a Banach space X into itself satisfying the following conditions

$$(1.2) \quad T(C) \subset I(C),$$

$$(1.3) \quad \|ITx - TIx\| \leq \|Ix - Tx\|$$

for all $x \in X$

$$(1.4) \quad \|Tx - Ty\| \leq a\|Ix - Iy\| + (1-a)\max\{\|Tx - Ix\|, \|Ty - Iy\|\}$$

* Blajee Guest House Street-37, Sector-5 Bhilai (M.P.) 490006, INDIA.

** Department of Mathematics, Gyeongsang National University Jinju 660-701, KOREA.

for all $x, y \in C$, where $0 < a < 1$. Then if I is linear and non-expansive in C , then I and T have a unique common fixed point in C .

In this paper, we introduce the concept of compatible mappings of type (A) on Banach spaces, which is, of course, equivalent to the concept of compatible mappings which was introduced by G. Jungck ([4]) under some conditions, and give a common fixed point theorem for compatible mappings of type (A) satisfying the contraction condition of Gregus type.

II. COMPATIBLE MAPPINGS OF TYPE (A)

In [5], G. Jungck, P.P. Murthy and T.J. Cho proved that two pairs of compatible mappings and compatible mapping of type (A) on a metric space are equivalent to each other under some conditions. Now, in this section, we give some properties of compatible mappings and compatible mappings of type (A) on Banach spaces:

Definition 2.1. Let S and T be mappings from a Banach space $(X, \|\cdot\|)$ into itself. A pair $\{S, T\}$ is said to be compatible on X if

$$\|STx_n - TSx_n\| \rightarrow 0 \text{ as } n \rightarrow \infty$$

whenever $\{x_n\}$ is a sequence in X such that $\lim_{n \rightarrow \infty} Sx_n = \lim_{n \rightarrow \infty} Tx_n = z$ for some $z \in X$.

Definition 2.2. Let S and T be mappings from a Banach space $(X, \|\cdot\|)$ into itself. A pair $\{S, T\}$ is said to be compatible of type (A) on X if

$$\|TSx_n - SSx_n\| \rightarrow 0 \text{ and } \|STx_n - TTx_n\| \rightarrow 0$$

whenever $\{x_n\}$ is a sequence in X such that $\lim_{n \rightarrow \infty} Sx_n = \lim_{n \rightarrow \infty} Tx_n = z$ for some $z \in X$.

The proofs of the following propositions follow from the same lines in [5]:

Proposition 2.1. Let S and T be continuous mappings from a Banach space $(X, \|\cdot\|)$ into itself. If a pair $\{S, T\}$ is compatible on X , then it is compatible of type (A) on X .

Proposition 2.2. Let S and T be mappings from a Banach space $(X, \|\cdot\|)$ into itself and let a pair $\{S, T\}$ be compatible of type (A) on X . If one of S and T is continuous, then the pair $\{S, T\}$ is compatible on X .

The following proposition is a direct consequence of Propositions 2.1 and 2.2:

Proposition 2.3. Let S and T be in Proposition 2.1. Then a pair $\{S, T\}$ is compatible on X if and only if it is compatible of type (A) on X .

Now, we give two examples to illustrate Proposition 2.3:

Example 2.1. Let $X = \mathbf{R}$ with the Euclidean norm $\| \cdot \|$ and define two mappings S and $T : X \rightarrow X$ as follows:

$$Sx = \frac{x}{4} \text{ and } Tx = \frac{x}{2}$$

for all $x \in X$. Both S and T are continuous at $x = 0$ and $S(0) = T(0)$.

Now, consider a sequence $\{x_n\}$ in X defined by $x_n = \frac{1}{2^n}$, $n = 1,$

$2, \dots$. Then we have

$$Sx_n = \frac{1}{2^{n+2}} \rightarrow 0 = z \text{ and } Tx_n = \frac{1}{2^{n+1}} \rightarrow 0 = z \text{ as } n \rightarrow \infty,$$

that is, $\lim_{n \rightarrow \infty} Sx_n = \lim_{n \rightarrow \infty} Tx_n = 0 = z$, and the pair $\{S, T\}$ is compatible of type (A) on X since we have

$$\|STx_n - TTx_n\| = \left| \frac{1}{2^{n+3}} - \frac{1}{2^{n+2}} \right| = \frac{1}{2^{n+3}} \rightarrow 0 \text{ as } n \rightarrow \infty$$

and

$$\|TSx_n - SSx_n\| = \left| \frac{1}{2^{n+3}} - \frac{1}{2^{n+4}} \right| = \frac{1}{2^{n+4}} \rightarrow 0 \text{ as } n \rightarrow \infty$$

Further, pair $\{S, T\}$ is compatible on X . In fact,

$$\|STx_n - TSx_n\| = \left| \frac{1}{2^{n+3}} - \frac{1}{2^{n+3}} \right| = 0$$

The following example shows that Proposition 2.3 is not true if S and T are not continuous at a point in X .

Example 2.2. Let $X = \mathbf{R}$ with the Euclidean norm $\| \cdot \|$ and define two mappings S and $T : X \rightarrow X$ as follows:

$$Sx = \begin{cases} \frac{1}{x^3} & \text{if } x \neq 0, \\ \frac{1}{2} & \text{if } x = 0, \end{cases} \quad \text{and } Tx = \begin{cases} \frac{1}{x} & \text{if } x \neq 0, \\ \frac{1}{5} & \text{if } x = 0. \end{cases}$$

Both S and T are discontinuous at $z = 0$. Consider a sequence $\{x_n\}$ in X defined by $x_n = n^2$, $n = 1, 2, 3, \dots$. Then $\lim_{1 \rightarrow \infty} Sx_n = \lim_{n \rightarrow \infty} Tx_n = 0 = z$. Since

$$\|STx_n - TSx_n\| = |n^6 - n^6| = 0,$$

the pair $\{S, T\}$ is compatible on X . But

$$\|STx_n - TTx_n\| = |n^6 - n^4| = n^4 |n^2 - 1| \rightarrow \infty \text{ as } n \rightarrow \infty$$

implies that the pair $\{S, T\}$ is not compatible of type (A) on X .

We need the following propositions for our main theorems. The proofs of the following propositions also follow from the same lines in [5]:

Proposition 2.4. Let S and T be mappings from a Banach space $(X, \|\cdot\|)$ into itself. If a pair $\{S, T\}$ is compatible of type (A) on X and $Sz = Tz$ for some $z \in X$, Then $STz = TTz = TSz = SSz$.

Proposition 2.5. Let S and T be mappings from a Banach space $(X, \|\cdot\|)$ into itself. Let a pair $\{S, T\}$ be compatible of type (A) on X and $\lim_{n \rightarrow \infty} Sx_n = \lim_{n \rightarrow \infty} Tx_n = z$ for some $z \in X$. Then we have

- (1) $\|TSx_n - Sz\| \rightarrow 0$ as $n \rightarrow \infty$ if S is continuous.
- (2) $STz = TSz$ and $Sz = Tz$ if S and T are continuous at z .

III. COMMON FIXED POINTS

Let A, B, S and T be mappings from a Banach space $(X, \|\cdot\|)$ into itself such that

$$(3.1) \quad A(X) \subset T(X) \text{ and } B(X) \subset S(X),$$

$$(3.2) \quad \|Ax - By\| \leq a \|Sx - Ty\| + b \max \{ \|Ax - Sx\|, \|By - Ty\|, \frac{1}{2} (\|Ax - Ty\| + \|By - Sx\|) \}$$

for all $x, y \in X$, where $a, b > 0$ and $a + b < 1$. Then, by (3.1), since $A(X) \subset T(X)$, for any arbitrary point $x_0 \in X$, there exists a point $x_1 \in X$ such that $Ax_0 = Tx_1$. Since $B(X) \subset S(X)$, for this point x_1 , we can

choose a point $x_2 \in X$ such that $Bx_1 = Sx_2$ and so on. Inductively, we can define a sequence $\{y_n\}$ in X such that

$$(3.3) \quad y_{2n} = Sx_{2n} = Bx_{2n-1} \text{ and } y_{2n+1} = Tx_{2n+1} = Ax_{2n}$$

for $n = 0, 1, 2, \dots$

Then we have the following lemma for our main theorem:

Lemma 3.1. Let A, B, S and T be mappings from a Banach space $(X, \|\cdot\|)$ into itself satisfying the conditions (3.1) and (3.2). Then the sequence $\{y_n\}$ defined by (3.3) is a Cauchy sequence in X .

Proof: By (3.2), we have

$$(3.4) \quad \begin{aligned} \|y_{2n+1} - y_{2n}\| &= \|Ax_{2n} - Bx_{2n-1}\| \\ &\leq a \|Sx_{2n} - Tx_{2n-1}\| + b \max \{ \|Sx_{2n} - Ax_{2n}\|, \\ &\quad \|Tx_{2n-1} - Bx_{2n-1}\|, \frac{1}{2} (\|Ax_{2n} - Tx_{2n-1}\| + \|Bx_{2n-1} - Sx_{2n}\|) \} \\ &= a \|y_{2n} - y_{2n-1}\| + b \max \{ \|y_{2n} - y_{2n+1}\|, \\ &\quad \|y_{2n-1} - y_{2n}\|, \frac{1}{2} (\|y_{2n+1} - y_{2n}\| + \|y_{2n} - y_{2n-1}\|) \}. \end{aligned}$$

If $\|y_{2n+1} - y_{2n}\| > \|y_{2n} - y_{2n-1}\|$ in 3.4), then we have

$$\begin{aligned} \|y_{2n+1} - y_{2n}\| &\leq (a + b) \|y_{2n+1} - y_{2n}\| \\ &< \|y_{2n+1} - y_{2n}\|, \end{aligned}$$

which is a contraction since $a + b < 1$ and so

$$\|y_{2n+1} - y_{2n}\| \leq (a + b) \|y_{2n} - y_{2n-1}\|.$$

Similarly, we have

$$\|y_{2n} - y_{2n-1}\| \leq (a + b) \|y_{2n-1} - y_{2n-2}\|.$$

Therefore, we have

$$(3.5) \quad \begin{aligned} \|y_{n+1} - y_n\| &\leq (a + b) \|y_n - y_{n-1}\| \\ &\dots\dots\dots \\ &\leq (a + b)^n \|y_1 - y_0\|. \end{aligned}$$

If $m \geq n$, then the repeated use of (3.5) yields

$$\begin{aligned} \|y_m - y_n\| &\leq \|y_m - y_{m-1}\| + \|y_{m-1} - y_{m-2}\| + \dots + \|y_{n+1} - y_n\| \\ &\leq \{(a+b)^{m-2} + (a+b)^{m-3} + \dots + (a+b)^{n-1}\} \|y_1 - y_0\| \\ &= \frac{(a+b)^{n-1}}{1 - (a+b)} \|y_1 - y_0\|. \end{aligned}$$

Therefore, since $0 < a + b < 1$, the sequence $\{y_n\}$ is a Cauchy sequence in X .

Now, we are ready to give our main theorem:

Theorem 3.2. Let A, B, S and T be mappings from a Banach space $(X, \|\cdot\|)$ into itself satisfying the conditions (3.1), (3.2), (3.6) and (3.7):

(3.6) one of A, B, S and T is continuous,

(3.7) the pairs $\{A, S\}$ and $\{B, T\}$ are compatible of type (A) on X .

Then A, B, S and T have a unique common fixed point in X .

Proof: By Lemma 3.1, the sequence $\{y_n\}$ is defined by (3.3) is a Cauchy sequence in X . Since $(X, \|\cdot\|)$ is a Banach space, $\{y_n\}$ converges to a point z in X . The subsequences $\{Ax_{2n}\}$, $\{Bx_{2n-1}\}$, $\{Sx_{2n}\}$ and $\{Tx_{2n-1}\}$ of $\{y_n\}$ also converge to z .

Now, suppose that T is continuous. Then we have

$$TTx_{2n-1}, TBx_{2n-1} \rightarrow Tz \text{ as } n \rightarrow \infty.$$

Since $\{B, T\}$ is compatible of type (A) on X , by Proposition 2.5,

$$BTx_{2n-1} \rightarrow Tz \text{ as } n \rightarrow \infty.$$

Then, by (3.2), we have

$$(3.8) \quad \|Ax_{2n} - BTx_{2n-1}\| < a \|Sx_{2n} - TTx_{2n-1}\| + b \max \{ \|Sx_{2n} - Ax_{2n}\|, \|TTx_{2n-1} - BTx_{2n-1}\|, \frac{1}{2} (\|Ax_{2n} - TTx_{2n-1}\| + \|BTx_{2n-1} - Sx_{2n}\|) \}.$$

Taking $n \rightarrow \infty$ in (3.8), we have

$$\begin{aligned} \|z - Tz\| &\leq a \|z - Tz\| + b \max \{0, 0, \|z - Tz\|\} \\ &= (a + b) \|z - Tz\| \\ &< \|z - Tz\|, \end{aligned}$$

which is a contradiction and so $Tz = z$. Again from (3.2), we also have

$$(3.9) \quad \|Ax_{2n} - Bz\| \leq a \|Sx_{2n} - Tz\| + b \max \{ \|Ax_{2n} - Sx_{2n}\|, \|Bz - z\|, \frac{1}{2} (\|Ax_{2n} - Tz\| + \|Bz - Sx_{2n}\|) \}.$$

Taking $n \rightarrow \infty$ in (3.9), we get

$$\begin{aligned} \|z - Bz\| &\leq a \|z - Tz\| + b \max \{0, \|z - Bz\|, \frac{1}{2} \|z - Bz\|\} \\ &= b \|z - Bz\| \\ &< \|z - Bz\|, \end{aligned}$$

which is a contradiction and so $Bz = z$. Since $B(X) \subset S(X)$, there exists a point $u \in X$ such that $z = Bz = Su$.

Now, we claim that $Au = z$. If $Au \neq z$, then, by (3.2), we have

$$\begin{aligned} \|Au - z\| &= \|Au - Bz\| \\ &\leq a\|Su - Tz\| + b \max \{ \|Au - Su\|, \\ &\quad \|Bz - Tz\|, \frac{1}{2} (\|Au - Tz\| + \|Bz - Su\|) \} \\ &= < b\|Au - z\| \\ &< \|Au - z\|, \end{aligned}$$

which is also a contradiction and so $Au = z = Su$. Since pair $\{A, S\}$ is compatible of type (A) on X , by Proposition 2.4, $ASu = SSu$, that is $Az = ASu = SSu = Sz$.

Finally, we claim that $Az = z$. If $Az \neq z$, then, by (3.2) again, we have

$$\begin{aligned} \|Az - z\| &= \|Az - Bz\| \\ &\leq a\|Sz - Tz\| + b \max \{ \|Az - Sz\|, \\ &\quad \|Bz - Tz\|, \frac{1}{2} (\|Az - Tz\| + \|Bz - Sz\|) \} \\ &\leq (a + b) \|Az - z\| \\ &< \|Az - z\|, \end{aligned}$$

which is a contradiction and so $Az = z$. Therefore, z is a common fixed point of A, B, S and T . The uniqueness of a common fixed point z follows easily from (3.2). Similarly, we can complete the proof when A or B or S is continuous. This completes the proof.

As an immediate consequence of Theorem 3.2, we have the following:

Corollary 3.3. Let A, B, S and T be mappings from a Banach space $(X, \|\cdot\|)$ into itself satisfying the conditions (3.1), (3.6), (3.7) and (3.10):

$$(3.10) \quad \|Ax - By\| < a\|Sx - Ty\| + b \max \{ \|Ax - Sx\|, \|By - Ty\| \}$$

for all $x, y \in X$, where $a, b > 0$ and $a + b < 1$.

Then A, B, S and T have a unique common fixed point in X .

The following example illustrate our main theorem:

Example 3.1. Let $X = \{0, 1, \frac{1}{2}, \frac{1}{2^2}, \frac{1}{2^3}, \dots\}$ with the Euclidean norm $\|\cdot\|$ and define A, B, S and $T : X \rightarrow X$ by

$$A(0) = B(0) = S(0) = T(0) = 0,$$

$$A\left(\frac{1}{2^n}\right) = \begin{cases} \frac{1}{2^{n+4}} & \text{if } n \text{ is even,} \\ \frac{1}{2^{n+5}} & \text{if } n \text{ is odd,} \end{cases} \quad B\left(\frac{1}{2^n}\right) = \begin{cases} \frac{1}{2^{n+5}} & \text{if } n \text{ is even,} \\ \frac{1}{2^{n+8}} & \text{if } n \text{ is odd,} \end{cases}$$

$$S\left(\frac{1}{2^n}\right) = \begin{cases} \frac{1}{2^{n+7}} & \text{if } n \text{ is even,} \\ \frac{1}{2^{n+4}} & \text{if } n \text{ is odd,} \end{cases} \quad T\left(\frac{1}{2^n}\right) = \begin{cases} \frac{1}{2^{n+1}} & \text{if } n \text{ is even,} \\ \frac{1}{2^{n+3}} & \text{if } n \text{ is odd.} \end{cases}$$

Then we have the following:

(1) $A(X) \subset T(X)$ and $B(X) \subset S(X)$.

(2) One of A , B , S and T is continuous.

(3) If $x = \frac{1}{2}$ and $y = \frac{1}{2^2}$ in (3.2), then we have

$$\begin{aligned} \left| \frac{1}{2^6} - \frac{1}{2^7} \right| &\leq a \left| \frac{1}{2^5} - \frac{1}{2^6} \right| + \\ \text{bmax} \left\{ \left| \frac{1}{2^6} - \frac{1}{2^5} \right|, \left| \frac{1}{2^7} - \frac{1}{2^6} \right| \frac{1}{2} \left(\left| \frac{1}{2^6} - \frac{1}{2^6} \right| + \left| \frac{1}{2^7} - \frac{1}{2^5} \right| \right) \right\} \\ &= \frac{a}{2^6} + \text{bmax} \left\{ \frac{1}{2^6}, \frac{1}{2^7}, \frac{3}{2^8} \right\} \\ &= \frac{1}{2^6} (a + b) \end{aligned}$$

or equivalently,

$$\frac{1}{2^7} \leq \frac{1}{2^6} (a + b)$$

$$1 \leq 2(a + b)$$

Thus, if $a = \frac{1}{4}$ and $b = \frac{1}{2}$, then $1 < \frac{3}{2}$ and so the condition (3.2) holds.

(4) The pairs $\{A, S\}$ and $\{B, T\}$ are compatible of type (A) on X , but $AS \neq SA$, $BT \neq TB$, $AB \neq BA$ and $ST \neq TS$. Moreover, for

$$x_n = \frac{1}{2^n}, n = 0, 1, 2, \dots,$$

$$Ax_{2n} = Tx_{2n+1} = \frac{1}{2^{2n+4}} \text{ and } Bx_{2n+1} = Sx_{2n+2} = \frac{1}{2^{2n+9}}$$

Thus, the sequence $\{y_n\}$ defined by

$$y_{2n} = Sx_{2n} = Bx_{2n-1} \text{ and } y_{2n+1} = Tx_{2n+1} = Ax_{2n}$$

converge to 0, which is the only common fixed point of A, B, S and T .

Remark. (1) If $b = 0$, $A = B = F$ and $S = T = I_X$ (the identity map on X) in (3.2), then we have

$$\|Fx - Fy\| \leq a \|x - y\|$$

for all $x, y \in X$, where $0 < a < 1$, that is, F is a contraction mapping on X . Hence, Theorem 3.2 generalizes the Banach's Fixed Point Theorem.

(2) If $b = 0$, $a = 1$, $A = B = F$ and $S = T = I_X$ in (3.2), then we have

$$\|Fx - Fy\| < \|x - y\|$$

for all $x, y \in X$, that is, F is a non-expansive mapping on X .

Acknowledgement: The authors wish to express the deepest appreciation to Prof. S. Sessa for his helpful comment on this paper.

REFERENCES

1. M.L. DIVICCARO, B. FISHER AND S. SESSA, A Common Fixed Point Theorem of Gregus Type, *Publ. Inst. Math.*, 34 (1987), 83-89.
2. B. FISHER AND S. SESSA, On a Fixed Point Theorem of Gregus, *Internat. J. Math. and (A) Math. Sci.*, 9 (1986), 23-28.
3. M. GREGUS, Jr., A Fixed Point Theorem in Banach Spaces, *Boll. Un. Mat. Ital.*, (5) 17 (1980), 193-198.
4. G. JUNGCK, Compatible Mappings and Common Fixed Points, *Internat. J. Math. and Math. Sci.*, 9 (1986), 771-779.
5. G. JUNGCK. AND P.P. MURTHY AND Y. J. CHO, Compatible Mappings of Type (A) and Common Fixed Points, *Math. Japon* (1993). Vol. 38 (2), 381-390.
6. R.N. MUKHERJEE AND V. VERMA, A Note on a Fixed Point Theorem of Gregus, *Math. Japon.*, 33 (5) (1988), 745-749.
7. C.S. WONG, On Kannan Maps, *Proc. Amer. Math. Soc.*, 46 (1975), 105-111.